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Questions 1 fo & cany 2 marks each. Show your working clearly and write your

answers in the spaces provided, For quastions which require unils, give your
answers in the units slated.

{10 marks)
1 The bar graph below represents the amount of flour Mrs Tang used from
Monday to Thursday.
1506

1200

Amount of 900 .
fiour used

; o)

600 |[—f

Monday - Tuesday Wodnesday Thursday

1% 1350 1200 §75

What is tha'qyerage amount of Rlour Mrs Tang used per day?
Total = 475+(350+(200 1825
= 4360
by - 4350 5%
= 10875

Ans: 10815 q’
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2 Jame(ﬁiied halla rectangular tank measuring 3.2 mby 1.5 m by 2.88m

with walér. Find the f water in the tank,
Give your answer{comect 1o the nearas miatre. »

&

M
~#| 286 m

- Ut not writs
 thit apach

3 Inthe figure, XY is a straight ling,
Find the sumof <a, £b, ~¢, ~dand Le.
Q0. Ant AP
1Y & -
180" 4180
X ‘-‘?"i,’ 1 ¥ 33&; O"" )
e 3000 V4G
= 157
3 . -~
L. SQum =180+ 215

= 395"

e 345
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4 in the figure below, PQRS and QUTS are rectangles.
P = 30 om, PS5 = 40 cm and QS = 50 em.

Find the length of ST.
Q U
30em
=)
50 em

R

40 cm

b 7 T
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ABES

= 1200
8T = (200550
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Afult Ak

= AQRS
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5 The figure shows an equilateral triangle, P.

By joining dots on the grid with straight lines, draw “mombus with the sama
perimster as P.
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Forquestions 6 1o 17, show your working cleady and wiite your ahiswers in the i
spaces provided. The number of marks avallable is shown in bracket [ ] st the |
ond of aach question or part-question. For questions which require units, give
yOur answers in the uniis stated, {45 marks)}

¥

6 Kumnar recetves the same amount of packet money from his father every

: month fram March to July. He'spent 30@%{_&2&_&*;&&21{50&1&)(_55@ ‘
saved the rast. The line graph below shows the amount of pockel
mioney Kumar spent from March to July, :

50

40 -
Amount N

£y N
20 -

He
15 %
T ¥
{i.v
¥ G

March  Apnil May June July
24 3k o 28 32

(8} Kumar saved $14 in April. How much pocket money doas he
from His father each manth?

I ;
b} Whatis th@ﬂlﬁgﬁ.mme@ﬁ the amounlt of money Kumar ‘
m Maz to June?

Soved + Sfenéa - Pocot B
4+ 36 = 50 (&)

M Co0)e)

Soved =50~ Y

=10
Ans: {;
jum ) \{\ 9310 s: {a)

£50

Soved = 50 -28 7 =g
=22

Do not wotite:
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7 The figure is ado up of two quartet circles and o reciangle ovarlapping
sne another. The radius of the larger quatier circle is the same as the
length of the rectanglo. The length of thg reglangle is 42 m and it
braadth is 21 m. Find the sum of the'Perimetersif the two shaded parts

42m

/{Lff’“") 3
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o T — B et weile : | Dot wite
8 In tha figure below,s a rhombus. EFG and DAF are triangles. in this space g Bookshop A and Bookshop B sold erasers In packs of & and pens in g i this space
GE s GF. ZEGF = 28° and £ABC = 114°, Find < CDE. packs of 8. The two bookshops $old 3 folal of 1586 erasers and pens.

Bookshop A sold twice as many packs of erasers as pens while
Bookshop B sold twice as many packs of pans as erasers.
The number of pens sold in both bookshops was the same.

QU ¥ Lb _ How many packs of erasers did both bookshops self altogether?
fgU—- =

- ERASERS / Pens )\
bl =33 ~ v
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e e 0 L E P

@v}\a gl:llu

bod
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Total 10w |(Bu) i T Ko i(ibe
CJalwt b = ® VAU

2 : “7\L/
4
0p 1

bp = 57p

20p41bp + 5P+
ST
-39 55T = 2%

1 @ﬁ 2€% 25 =700 W(@Vdél&rg)
Ans: t 3] F ’ O
PO\ C/ké = WIOO '; b - !L‘O Ans: L}L 3]
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10 Mr Tan used two different printers for a printing job. The graph below
shows the number of pages printed by Printer A in a given period of

time.

T4
Printer A 32{) !

120
Te$)

20

80
Number of to
pages &0 ,
rinted
i’ 40 i

24

20

0
6 05 (j) 15 2 25 3

Time {minutes)

Mr Tan started printing on both printers at 10 30. He twmed off Printer B

at 10 45. Printer A was tumed off al 10 48, He printed 1880 pagas
altogethir, Printer B printed an equal number of pages every minute,
How many pages did Printer B print in ong minute?

 Printed A !
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11 Ben eama&&fﬁt@r delivering a_small parcel and earmed @i}f

{3}
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et Valng
4

1 Tio 5ot warilny
in this spaco

delivering a big parcel. He delivered 3 times gm{gm%wi =3 @-h,&

blg parcels and eamed a fotal of $156.80, He eamed $53,20/1ess for Val

“Fafivering all the big parcels than all the smali parcels. =3 alug
How many big parcels dig Ban doliver? ]  octed

: L&f&i Valug

$5(-80

& 0) tu

$ wahd v #5320

Qb‘l = 165..8’0,,63?/{)
= 0369

- la = 103607 2 7
Crmeid = S 80+ 6320 = 105
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8 gpp s arangee as
apples. She pakt a total of 150 for ol the frults—The r&%o of the
amount of money she spent on the pears to the amount she spent on
the apples was 2 : 3. The ratic of the amount of money she spent on
the pears to the amount of money she spent on the oranges was 1 : 5,
Each apple cost $0.50. Find the total number of fruits Mrs Tan bought,
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13 Figure 1 shows bwo identical large semicircies and two identical small
semicircles overdapping within a square e, The length of the square
tile is 40 cm. The diametar of the small semicirole is 20 em.

f =)

Big . m@.ié b=2Q
D=0 R=20
Ty e xR

= 5oy 20% LO

{aj  Whatis tha@y)f the shaded parts within each tie?

{b} Figure 2 shows part of a path-complately covered with such tiles.

The path is 48 m long and 40 crmowide, Find the araz of the

unshaded path, %

Take 70 = 3.14. 4@ ‘r@‘m el

Figqure 2

& 206w
choded = AL =22 LTiemn” 2

4
et 2}? " | RECT
= O
(nchacted * g00 -1 = 329
QO C{v;t - Rﬁ(,/‘&"
L 80PT2Y

f—»f KOOW’) =
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R=r10

o xto= 2y

CireAg
=(256-314

=9 *2/(5)

240% 229+ 729 o 5
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Umg) 4 7 dow \ o

14 Janawwa corners of aimﬁangufar piacs E:w!’ paper as shown in the
figure below. i ;

() Eind <x
AL J
(b} Find 2y. \%g . o
=yl
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Unlnt &

k
Uty
pall 5{) % of the pails were

somplately W 32% of the palls were 5 filled with paint,

The remaining 20 pails were ompty. Tha total amount of paint in the
pails was 1590 ¢

B e g

" Do ant wrile
in v space

(a)  How many pails were completely filled with paint? i
(b)  Whatwas the agwfum of paint s; Lormpleie
T o ,;w e | Shikd | Eoy
C;;;;%g 0y %o s2u . | Bu —»20pals
el Vit 39 e O 3“':3""‘
Tokal Vol | (R0 S2uy o MR,
’ o T e
ok 150
@@u?ﬁgﬁu$ = 212 up (&)
212wp = 35(:Tu -
lup * (590 T A~
1 5
(80 wp = TH5x180 = (350
1Ho fc;xéic = 350/;
peu) = 1350 4 160
=
Ans: (3} _ | 5 0 m%
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T
16 Roger took part in a shooting game. He had to collect points by in is space
shooting goid and silver stars. He scored 8 points forgach gold star) Z [&M%‘
shot and 3 pgints forgach silver starshot, ™ " ] | . o
At the and of tha game, he 30 gointYless from shooting silver,_
stars than goid stars. Roger shot 35 fewet silver stars than gold stars. 2| To lnl
How many stars did Roger shoot altogether? . jﬁLA I
A Jalnt
T
1 Gold 1 Sitver
8 points | 3 points
(ol Sivey | lal
i - S | e
@h}} Flut 3 Ly 2ut 32
| i . o o
Y . =) xG0 1 30
Unib Value © @ 3
(goinfsy . , o9y B ()
i N P -
o < - i
Totn! Value § S ZKD 2y j
T p0Ints ; ~ s
Cpornts ) -/
| At =730
-
- GL 7 } ‘; v 5180
G A
m-—'«.\/ﬂ_,,__,,,,,dp——r)
7130
5‘@4 = 7 30 - 23@ -
lw = 450+5
= Y40 |
q Ans: 2 ] 5 15}
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) 016 Ht wirity
17 ¥en had 2 boxes of boads. Box A had 60 more heads than Box Bat | i ’“;n"“;
fiest. Ken then moved G" Wm o Box 8.
X ["Nexk e mov z‘;of the beads m&:g B back into Box A.
_ Ken then added another 87 beads lo Box A. In the end, the number of
o o Ay et emaodgbsh |
> .
{a) Howmany beadeﬁ‘mm BW “Fu it ) .
{) How many beads weare there in Box A in the end? XL (/ ‘
- Cu 120
A »
lis 60 L 2 ~izo su = 0,
—u -5 Tla v 15 A
: i 8 m A
" W =
+au b (@\ L
; , . —
Sut Bl 3u+ 9 Q‘“@ ’?) 2“;{6+L
37 ' ;;{8(@:}
o Lod
“i" { 38 Du %’ q o X
[;e,x 6LA+I%8 :(‘N})(b) ~{ a;&
>
Ans: {8) l % i3]
¢ ('\f
®) Lo b @
END OF PAPER

CHECK YOUR WORK CAREFULLY !
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